ROMANIAN MATHEMATICAL MAGAZINE

Find:

1 1 (k — Dk -
= lim — vk
€=l ;\/Zk 1+2,/(k— Dk (kzl k>

Proposed by Daniel Sitaru — Romania

-1

Solution by Hikmat Mammadov-Azerbaijan

1 v (k— 1k =
Q = lim - - : k
. kZZ\/Zk—1+2w/(k—1)k <kz=1\/_>

1 v Jk-(k=1 .<"ﬁ>_1

= lim —-

n-ow N k=2\/(\/m+\/i)2

Jk-(k-1) "m N
Sl_zx/_+k CVE—1+Vk Z(k (k=1 Vk)

n

((k—1)-x/k—1+\/k—1—k-\/i+x/i)

=2

(-1 VE—1-k -VE)+ Z(vmm)

2 k=2

=—n.ﬁ+1+<zzx/i—\/n—1+1>=> k—1sfk Vx <k
k

-1

MS»”

&
I

:ZV_<fW<ZW §=>5- \/_+1<§ n\/_—§SS:>

:>S~§-n\/ﬁ

%-(—n\/ﬁ+z+zs—2\/m+1)
=
S

:>Q~%-(1-n\/_>( n\/_) =0=0=0

= 0=




